STUDENT CODE
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2

APPARATUS NUMBER

Coil 1: air core

R7Q

Va/V

With
one
polarity

With
reverse
polarity

Average

AVp/V

v/v

AV/V

Ve/V

AVR/V Vo/V

zZ/Q

R/Q

X/Q

L/H

Coil 1
air core

us(2)

us(R)

ul2)

ud(R)

uc(2)

uc(R)

uc(X) uc(L)

Coil 1
air core

R:

I+

Ly

I+

mH
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Coil 2: air core

R7Q

Va/V

AV,/V

With
one
polarity

With
reverse
polarity

Average

VIV

AV/V

Ve /V

AVi/V

Vo/V

Z/Q

R/Q

X/Q

L/H

Coil 2
air core

us(2)

us(R)

ul2)

ud(R)

uc(2)

uc(R)

uc(X)

uc(L)

Coil 2
air core

R>

I+

I+

mH

APhO 2012

Page 2 of 10




STUDENT CODE

EXPERIMENT
2
Coil 1: Al core
R/Q Va/V AV/V v/V AV/IV Ve/V AVR/V | Vo/V
With one
polarity
With
reverse
polarity
Average
Z*/Q R*/Q X*/Q L*/H
Coil 1
Al core
us(Z*) | us(R*) | udZ*) | udR*) | uc(Z*) | uc(R¥*) | uc(X*) | uc(L¥)
Coil 1
Al core
R*, + Q
L* + mH
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Coil 2: Al core

R/

Va/V

With
one
polarity

With
reverse
polarity

Average

Vo/V

Z*/Q

R*/Q

X*/Q

L*/H

Coil 2
Al core

us(Z*)

us(R*)

u(Z*)

u(R*)

uc(Z%)

uc(R*)

uc(X*)

uc(L*)

Coil 2
Al
core

R*,

I+

L*,

I+

mH
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PART 2

My, =
My, =

M., =

*
M*, =
*
M*,, =

*
M*,, =

mH

mH

mH

mH

mH

mH
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R"=300Q

Obs No | R/Q Va/V V/V Ve /V Vo/V
With one

polarity 1
With reverse
polarity

Average

With one 2
polarity
With reverse
polarity

Average
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ObsNo | R/Q Va/V V/V Va/V Va/V

With one
polarity

With reverse
polarity

Average

With one
polarity

With reverse
polarity

Average

h) Linearised equation for graph
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M and Xs from graph

M = mH
Xs = Q
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PART 3

K and I) Calculated data

R/Q

Zpe

Inference from graph of Xy: vs Xi expressed in the form of an equation

Value of R, at which Rg is maximum

Q
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PART 4

For coil 1 Leore/Reore =

For coil 2 Lcore/Rcore =

Formula giving AP
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